Ef-TEBRRAREE-ER AF0546 A8 AR
EE SRMASRL
e =TI EREE SRHMATRRE
£iRm — R X mE
BRI EEF LD ﬂu’ﬁ:ﬂ:{iﬂ
X7 (BKE) FER=EHEE |18
(EWKE) |LIERSIEHEE 102
ENIFRE=30.8, ZR)IFE=7.4, + A)IFE=9.1, KRR )IIFRE=16.9,
FREREEHEE |SE)IRE=94, XEF)I5E=19.8, £E)II5E=8.9, FT)IFE=19.2,
EE)IFRE=20.7
oK e ¥ + ANIFtEg=(8, 8.1), E4B)IiE=(6, 8.4), KEJIIFth=(6, 17.8),
mane B F= (12, 12.1)
FERE AR F 8, -
4 apve FHUI[E3]
i 5 fE £ 20m/s
A FHNE fi: 25m/s
= - > fE 20m/s EEHES
FRE FERE B 25m/s EEMED
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥325cm
= RROFS D 128 R S O 550m
KR HEES 5.0m
= 80 B 1.3m
PN REWEEHEE |8
TIEREEHELE |85
EIFE=24.6, RIR)IFE=5.9, + ANIFE=5.1, KRR )IFE=135,
TRERERENEE i*%m;,jgﬂ.s, REF)IFRIE=13, BNIFKE=7.1, FTIIRH=15.3,
EB)IGRE=16.5
#K = (6, 19.7), RIRJIIFiEL=(5, 5.9), +AJIliftsE=(8, 5),
HoEsg™ RENGRE=(7, 8), BNIGRE=(5, 7.5), KEIIFiE=(6, 104),
£BE)IRE=(6, 5.7), FTIIFE=(6, 12.2), XEF)II;iz=(6, 10.9)
BEAEKTHR |_
ICkBEE
T2 44 RE L 12m/s*?
SR A YRR B 15m/s
= T s fE L 12m/s*? EHEES
RS FHRE L 15m/s BEES
= = 7y iy 1285 IR E DIFES15cm
EER AE REQHS L3 1265 RIS E O & &350m
KR HFE2ES 3.0m
=i BT 0.8m
= ESEFICLYBENTEINDEES
BE ORTHEOBFHTRA13CHE
i QEEHhiED B FHSEA0°CLLE . MD B REKEH20mmil £
i S =] B_-%J: 100m
p-—1 1Rig B 500m
225 B/INEE40% T, EHERE65%
D245 IR S D REMN50cm U EH->TRBEDELDXENFE (RE
TEn Q@BEEMN00cmL EH-TRIRIMAKRENDBEHEKBCULE, RITFREGHIC/H)N
REWEE (L. 0CLL)
€38 EH RESBIT°CUTH28 LU E##5
o LM RIERBE—4CUT
B BR-BEHIC RIEKEFCUT
EK-ES ZLWVEK(B) A FEINDEES

(5o B RO R P Rl A R TG 2R

1 E#Faﬁl"ﬁ% [100mm

NREREEY AEFEEY OMAShEICLIREBERLTVET,
" 2RMFTREDEREL5m/sEBRET B,



